> A
A & 0l & AF 2 E A A
20158 = S0la LB H HaItsu
AN GEIEY
g d=1sd
SRRV PEE D=L CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o & ot=t 86,517,212 73,097,024 13,420, 188
= 53,531,751
X 280,000
J| 587,156
< 12,294,921
Al 19,823,384
Hd=XSH 1,522,949 1,458,872 64,077
= 265,602
J| 420,956
< 262,135
Al 574,256
Hed=2XSa 938,463 914,822 23,641
= 265,602
J| 166,894
< 153,482
Al 352,485
OEIEEd g2 X& 26,000 26,000 0
201 Yete | 18,000 18,000 0
01 At 22l 18,000 18,000 0
O2E==EH| 12,000
oANRES X HMFEH AZEFFY
12,000, 000& 12,000
O=&l 6,000
o HAEJIZEZM HRFA 6,000,000 6,000
202 oddl 8,000 8,000 0
01 = LH o4 1l 8,000 8,000 0
ONWEIIEFN g2 8,000,000& 8,000
Ha 2XNSH AY =& 45,485 47,035 A 1,550
201 Let2d] 14,785 14,785 0
01 At 22l 2,785 2,785 0
OZE=EH| 385
o HEHRFA MRBES 7L 385,000& 385
0O2E+2 1,400
o dESARS HFHg 1,400,000& 1,400
O=El 1,000
o HAHRF=Al 1,000, 000& 1,000
03 & Ar2 Z I 12,000 12,000 0
OWEEY 2NE 10,000, 000& 10,000
OWHLEAAS A AL 2,000,000 2,000
202 Odl 3,500 3,500 0
01 = LH 4 1l 3,500 3,500 0
oHgge =2 3,500,000& 3,500




AR GRS =
3 dd=Nsd
H°el Hg=sAsd

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et a = 13,500 13,450 50
09 HALAHIE& S 13,500 13,450 50
OF= (el 424 1,000,000 1,000
O&= WHEXEA el F424 1,000,000 1,000
OF2 Lua ZAsg 10,000,000 10,000
O3 SAEsS 4 24 1,500, 000& 1,500
307 gl2tol & 13,700 15,300 A 1,600
11T M SXAISE EX 13,700 15,300 A 1,600
OH203 Hd=2t JISHA & Hastg 8ot
g 3l 9,000,000 9,000
OAYs FaE d235 HSIIAY
4,700,000 4,700
HAEXAESHE 23H KNI (EX) 23,295 43,295 20,000
< 7,041
Al 16,254
307 21201 A 23,295 23,295 0
= 7,041
Al 16,254
11T AL SXAEE X 23,295 23,295 0
O sdEH 2GHIXA 23,295,000 23,295
< 7,041
Al 16,254
& AS ZEHEU(EX) 13,150 13,150 0
< 3,600
Al 9,550
307 glz2tol & 13,150 13,150 0
< 3,600
Al 9,550
11T MISXASEX 13,150 13,150 0
OWEHH IASL3ALSY 13,150,000 13,150
< 3,600
Al 9,550
HEZRSGEZAZTY 14,000 13,000 1,000
201 Let2d] 9,000 10,000 A 1,000
01 At 22l 5,000 10,000 A5,000
OB =+=EH| 3,000
o IHZISIEAl HHL=E A2S
3,000, 000& 3,000
O2E+ 2,000
o HEZISZAl ZEAAS 29
2,000,000& 2,000
03 & At2 Gl 4,000 0 4,000
OWAZRSIEA MEEHE /35& 4,000,000 4,000




M 08I S
HIM: HHASASA
SRRV PEE D=L CEEEED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
202 04| 2,000 0 2,000
01 2Ll 2,000 0 2,000
OHAERSIEA 2= 2,000,000& 2,000
303 ZAZ2 3,000 3,000 0
01 Za32 3,000 3,000 0
OWHERZTEZA =8 24 A L 25 ZA
3,000,000 3,000
YNHES L HEASEAEI NIK(EX) 2,000 1,500 500
&< 500
Al 1,500
201 et Y| 2,000 1,500 500
& 500
Al 1,500
01 AP 2t 2] d| 2,000 1,500 500
O2bBt=2H| 500
o HEHSEZAEHI W= 500,000& 500
= 125
Al 375
O+ 1,500
0 HHABEMEI DRAANLL
1,500,000& 1,500
= 375
Al 1,125
HNAS st822I1E UH 2E2HE N (EX) 142,460 142,460 0
J| 113,968
& 14,246
Al 14,246
301 et A= 142,460 142,460 0]
J| 113,968
o 14,246
Al 14,246
01 Al E& A %52 142,460 142,460 0
OMdAS SE2IIE IMEH ¥=dH € XA
142,460,000 142,460
J| 113,968
= 14,246
Al 14,246
NAS SE22IIE MEXNHEHIK(EX) 157,579 157,579 0]
o 47,274
Al 110,305
301 et A= 157,579 157,579 0
= 47,274
Al 110,305
01 A& A 2523 157,579 157,579 0




Off &t 24

=

i
2

OHASE REXIE HENEXA

157,579,000&

H

Al

157,579

47,274
110,305

H

Al

14,356

7,178
7,178

14,356

H

Al

14,356

7,178
7,178

14,356

w=dl X2

14,356,000&

H

Al

14,356

14,356

7,178
7,178

14,356

O3
s
A
ro
1
to
>
]
pal
o
i
P

Il

= M

1,715
1,372
137
206

1,715

Jl

2l

Al

1,715
1,372
137
206

1,715

1,715,000

=z N X

1,715
1,715

1,372
137
206

1,715

OLOIS 20l NJAME(EX)

=z N H

378,382
263,187
45,838
69,357

344,005

34,377

307 glztol &

=z MW

378,382
263,187
45,838
69,357

344,005

34,377

1A SXAIE 2 =

ORZX 2AUHHAEY

OO0 S S X & At

2,400,000

375,982,000

2l

=

= mnH

378,382
2,400
720
1,680
375,982
263,187

45,118
67,677

344,005

34,377

=z Hn Y

70,045
35,023
17,511
17,511

67,329

2,716




SAE]
SA-EHB . BAEH) - NRAY - HY e
307 21201 A 70,045 67,329 2,716
Il 35,023
=) 17,511
Al 17,511
A S XA E = 70,045 67,329 2,716
OEd=84Ea 2EXE 70,045,000& 70,045
Jl 35,023
< 17,511
Al 17,511
TIaH X o228l XN (2X) 3,291 713 578
J| 2,304
< 494
Al 493
307 glzZtol & 3,291 713 578
J| 2,304
= 494
Al 493
11T M SXAEE X 3,291 2,713 578
OZ =0 2 =24l 3,291
Il 2,304
=) 494
Al 493
HSZ Dl N2 =AY (EX) 12,892 892 0
Il 9,024
=) 1,934
Al 1,934
307 21201 & 12,892 ,892 0
Jl 9,024
& 1,934
Al 1,934
A S XA E X 12,892 ,892 0
OS8ZSMol it N2ds Z2)82
12,892
Il 9,024
=) 1,934
Al 1,934
HEAMNEA SAL HRHL(2X 3,600 600 0
= 1,080
Al 2,520
307 21201 & 3,600 ,600 0
< 1,080
Al 2,520
1T AR S TIALY 2 & 3,600 ,600 0
ONE=4EL SAL =2 3,600
< 1,080
Al 2,520
HSEZHNYAE SAK DE(EX) 940 940 0




VRS S

ot
SNV PEE D+
CPEES =E (B9 ®R)
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
J| 470
< 235
Al 235
307 21201 A 940 940 0
J| 470
< 235
Al 235
11T MISRASEX 940 940 0
OHEZSWHEAE SAN U= 940,000 940
J| 470
< 235
Al 235
JME =Y moiA Y =2Hl XN (EX) 1,618 ,428 190
J| 1,133
< 242
Al 243
307 21201 A 1,618 ,428 190
J| 1,133
< 242
Al 243
11 ALS S XALEE = 1,618 ,428 190
OMHE =0kt 2=z XA 1,618,000 1,618
J| 1,133
< 242
Al 243
OlsS, (4 otd XNSHHEY XNA(BEX) 7,200 ,200 0
J| 3,600
< 1,800
Al 1,800
307 glz2tol & 7,200 ,200 0
J| 3,600
= 1,800
Al 1,800
11T MIEXASEX 7,200 ,200 0
O0ts, AN XYl 2 X
7,200,000 7,200
J| 3,600
< 1,800
Al 1,800
OISOHEXNEHE(EX) 4,830 ,000 A 1,170
= 2,415
< 966
Al 1,449
307 gl & 4,830 ,000 A 1,170
= 2,415
= 966
Al 1,449
11T MIEXASEX 4,830 ,000 A1,170




M 08I S
M Hd=2XSsd
Sl =X (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OO0tsHE XS M & 4,830,000 4,830
= 2,415
< 966
Al 1,449
HEdEd JIBt=d(BEx) 15,625 8,625 7,000
< 3,406
Al 12,219
301 L2 A3 5,625 5,625 0
< 1,406
Al 4,219
01 Al EE X =56l = 5,625 5,625 0
Os0EE N& 5,625,000& 5,625
< 1,406
Al 4,219
307 glz2tol & 10,000 3,000 7,000
< 2,000
Al 8,000
11 AISI S XA E = 10,000 3,000 7,000
00l0I2)| E2HY 2528 29
10,000,000& 10,000
< 2,000
Al 8,000
23 s 38 N& 584,486 544,050 40,436
| 254,062
< 108,653
Al 221,771
ChENEXNJHEH 22 25,400 31,200 A5,800
202 O4dl 1,000 0 1,000
01 = LHA YI 1,000 0 1,000
OUER3IEXNF GRFA 1,000, 000& 1,000
307 glz2+ol & 24,400 31,200 A 6,800
11 AISI S XA E = 24,400 31,200 A 6,800
OUZsIt= 8iteg & X 4,500,000 4,500
OLU=E3IIE ds=d 4,500,000& 4,500
OCE3IE "EFAHU S =I1"
4,500,000 4,500
OZE012X D2FE DI 4,500,000& 4,500
Ost=0u=s HEHH 29 6,400,000& 6,400
Cestits NAMH 29X (EX) 152,770 320,180 A 167,410
| 106,939
< 15,277
Al 30,554
307 glz2tol & 152,770 320,180 A 167,410
| 106,939
< 15,277




SH: KIS
Y e=XEE

e U233 s 35 Xd (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

Al 30,554

11T A EXAIEEX 152,770 320, 180 A 167,410
OLUS3IIE NIHH 29 152,770,000 152,770
J| 106,939
& 15,277
Al 30,554

CI23IIE B2 USAMY(EX) 96,570 0 96,570
J| 67,599
= 9,657
Al 19,314

307 2Iz2t0| A 96,570 0 96,570
J| 67,599
= 9,657
Al 19,314

11T AISIEXAIEEX 96,570 0 96,570
OUSINE L2 NSAY 96,570,000 96,570
J| 67,599
& 9,657
Al 19,314

S22 NI 2H(EX) 22,262 0 22,262
J| 15,583
& 2,220
Al 4,459

307 2izto| & 22,262 0 22,262
J| 15,583
& 2,220
Al 4,459

11T A EXAIEEX 22,262 0 22,262
QOe=u=sJI2 29 22,262,000 22,262
Jl 15,583
o= 2,220
Al 4,459

ASE0|2 X EHIAMHIA(EX) 16,182 15,890 292
J| 11,328
o 1,618
Al 3,236

307 212t0| ™ 16,182 15,890 292
J| 11,328
o= 1,618
Al 3,236

11 A EXAIEEX 16,182 15,890 292
OZE0|2A SHAANHIA 16,182,000 16,182
J| 11,328
& 1,618
Al 3,236

23S AL XA (EX) 75,161 75,153 8
J| 52,613




- _ _ RE]
CEE B (BH) - HBAY - BAS gﬁ‘&i HR=2
[ 7,516
Al 15,032
307 gizto| A 75,161 75,153 8
J| 52,613
& 7,516
Al 15,032
11T A EXAIEEX 75,161 75,153 8
OLUE3 0ZE0 JIEstE Z4AY
16,250,000 16,250
J| 11,375
=} 1,625
Al 3,250
OLI2SIIE T ooy XNeAY
58,911,000 58,911
J| 41,238
= 5,891
Al 11,782
CI23ots KNHEH SAIIE IR (EX) 29,234 23,623 5,611
= 11,202
Al 18,032
307 ciztol & 29,234 23,623 5,611
& 11,202
Al 18,032
11T AISIEXAIEEX 29,234 23,623 5,611
OLUE3 JIIEXNILHEH SANANEXNLEE
4,920,000 4,920
& 1,476
Al 3,444
OLUE3 JIIEXNIALE SAIQE X
24,314,000 24 314
= 9,726
Al 14,588
230I2sY 2 (EX) 42,507 41,688 819
& 17,003
Al 25,504
307 giztol A 42 507 41,688 819
& 17,003
Al 25,504
11T A EXAIEEX 42 507 41,688 819
OLUEg0oIsse 29 42 507,000 42,507
= 17,003
Al 25,504
200X MNEY DF(2X) 10,000 7,000 3,000
< 4,000
Al 6,000
307 212t0| ™ 10,000 7,000 3,000
=} 4,000
Al 6,000




2% 18 33 & (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

11T MISAASEX 10,000 7,000 3,000
OZS0|2 X HgEd W= 10,000, 000& 10,000
< 4,000
Al 6,000

ZE0IQK U8 SHINA(2X) 17,000 29,316 ~12,316
< 7,400
Al 9,600

307 21201 A 17,000 29,316 212,316
< 7,400
Al 9,600

11T ASI S XAEE = 17,000 29,316 A 12,316
OZS018 X e s A& 6,000,000 6,000
< 3,000
Al 3,000
OZS012X SHAFHSKH 11,000, 000& 11,000
< 4,400
Al 6,600

C2stsgdisoz )l 29 (2xX) 21,400 0 21,400
< 8,560
Al 12,840

307 21201 A 21,400 0 21,400
< 8,560
Al 12,840

11T M3 SXAISEEX 21,400 0 21,400
ONbIERE ns 6,400,000 6,400
< 2,560
Al 3,840
od===270Y 29 15,000, 000 15,000
< 6,000
Al 9,000

CEsItE 830 UEXA(BEX) 14,000 0 14,000
< 5,600
Al 8,400

307 2I2+0 & 14,000 0 14,000
< 5,600
Al 8,400

11T MISRASEX 14,000 0 14,000
OU=2sItE =20 W=sEX& 14,000, 000& 14,000
< 5,600
Al 8,400

ChE30tE DetUs0l K& 32,000 0 32,000
< 9,600
Al 22,400

307 21201 A 32,000 0 32,000
= 9,600
Al 22,400




fA: O

3N od=

¢ =23 ots 3= K (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T MISAASEX 32,000 0 32,000
OLUE23IIE DELS0I A 32,000,000& 32,000
< 9,600
Al 22,400
Ct2st XYl S8 2SHXAJM(BX) 30,000 0 30,000
= 9,000
Al 21,000
307 21201 A 30,000 0 30,000
< 9,000
Al 21,000
11T ASI S XAEE = 30,000 0 30,000
OUEs HESE 23 ALY 30,000, 000& 30,000
< 9,000
Al 21,000
Lo =xsa 64,056,758 50, 140,873 13,915,885
= 44,359,708
X 280,000
J| 84,000
< 5,220,451
Al 14,112,599
LoERANYE &5 1,738,100 1,901,082 A 162,982
= 3,625
Xl 280,000
< 123,463
Al 1,331,012
229 & O8-8 JIsEL 798,000 903,000 A 105,000
201 ¢er24| 3,000 3,000 0
01 At 22/l 3,000 3,000 0
O2E==EH| 3,000
oZd2Y ¥ O8-8 d42F& 3,000,000 3,000
401 AIEHIZL 20HEI 200,000 300,000 100,000
01 A& Hl 198,560 297,840 A 99,280
OZ2g 2 08-8 MHE=
200,000,000& %99.28% 198,560
03 Al 2 THHI 1,440 2,160 AT20
0Z2Y 2 -8 N4
200,000,000& *0.72% 1,440
402 RI2EX20| N 595,000 600,000 25,000
01 B2t AP E XL 595,000 600,000 A5,000
OZ2% & O08-8 U= 250,000, 000& 250,000
OZE2Y YWHIIXIAANS(HAHA)
30,000,000& 30,000
OZ2Y OE-& e £ HUEH
300,000,000& 300,000
OLE =8 32Y JIsE2 15,000,000 15,000

_11_



SH: HEHED
Ha: Lo=XEH

SR LOSTAY 25 (29 a8)
SA - BB B () - MM - BES Ol &t o San HmEET
dz2g ¥ 8- JIsEBA(EX) 83,000 0 83,000

< 83,000
402 RI2EX=20| A 83,000 0 83,000
< 83,000
01 St AL E X 83,000 0 83,000
OSSN s F2Y Js2Y
11,000,000& 11,000
< 11,000
OZX 324 Jls22d 5,000,000& 5,000
< 5,000
O3 AFd 2 JsEY 9,800,000 9,800
< 9,800
OB FE5D Y2Y I52Y
9,700,000 9,700
< 9,700
OHH SMBZLE JIsES 9,700,000& 9,700
< 9,700
OZLs HRIZE 3L JIsES
30,000, 000& 30,000
= 30,000
O¥ 1 SEAZY JIsE 7,800,000 7,800
< 7,800
F2E SIMEAEY 219,600 219,600 0
301 gt d= 219,600 219,600 0
01 Ml2ZE 6= 219,600 219,600 0
O32Y ZJ1&3, HsSEXI X2 & <
YA 360,000& 61000 2 219,600
St2Ete] #=9E ZH(XS) 400,000 400,000 0
Xl 280,000
Al 120,000
401 AIEHI L 2] 100,000 100,000 0
Xl 70,000
Al 30,000
01 A& Hl 99,100 99,100 0
O&SEtel d=52 o =429 99,100,000 99,100
N 69,370
Al 29,730
03 A& SR THHI 900 900 0
COe =k #=E9 & £d2Y 900,000& 900
X 630
Al 270
402 RI2EXt20l 300,000 300,000 0
Xl 210,000
Al 90,000
01 2I2tt= AP 2 X 300,000 300,000 0




2N
X ZH -
L= B

el

P IlE=n}
co=xsd

LSEXAE &5

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
COe =k =9 & 422 300,000,000 300,000
Xl 210,000
Al 90,000
L =SNAE JIs2Ed 99,000 24,000 75,000
201 Let24d] 24,000 24,000 0
02 2324gHl 24,000 24,000 0
OA & EHl s Xl 24,000
o =S XE2 AIEEH |X 20,000,000 20,000
o ZH AOIE=SE AMEZH =X
4,000,000 4,000
401 Al HIZ 201 8] 75,000 0 75,000
01 A& HI 74,325 0 74,325
OXNEHNOESEY AXZXD &X
75,000,000& *99. 1% 74,325
03 A& =TI 675 0 675
OXNEHNOEZE AXZXD EX
75,000,000 x0.9% 675
LOETANE JsBS(Ex) 7,250 354,482 N 347,232
= 3,625
< 1,088
Al 2,537
402 RIZEX201 ™ 7,250 354,482 N 347,232
= 3,625
< 1,088
Al 2,537
01 It 2 AL B X 7,250 354,482 A 347,232
OUQAAE TUSHHEX XA
7,250,000 7,250
= 3,625
< 1,088
Al 2,537
SAHLQ JIFIIMG(BEX) 131,250 0 131,250
< 39,375
Al 91,875
402 RIZFX201 A 131,250 0 131,250
< 39,375
Al 91,875
01 It =2 AL B X 131,250 0 131,250
OSEZZE2 3MA 131,250,000 131,250
< 39,375
Al 91,875
LoOsETAE 29 10,650,274 10,316, 150 334,124
= 1,162,820
= 3,409,198
Al 6,078,256




SH: HEHED
Ha: Lo=XEH

S9l: TOISXAL 2Y CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
224 2 O8-8 294 & 522,700 520,200 2,500
201 24l 2,500 1,000 1,500
01 At 2t 2l 2,500 1,000 1,500
OBt =gl 1,000
o 1A 1OJ8-8 MNRESE & 4A2357Y
1,000, 000& 1,000
O=&l 1,500
0o 1E-8 2 F2Y FHE =7
1,500, 000& 1,500
202 O4dl 1,000 0 1,000
01 = LH 4 Hi 1,000 0 1,000
OI1E-2 2 222 243 A5
1,000, 000& 1,000
301 LAz 519,200 519,200 0
01 Ml28HE 6= 519,200 519,200 0
O1&-28 249H XA 3,000,000& * 1654 A 495,000
OZ2Y 2ZH FHXNI(AAFAL)
13,000,000& 13,000
OZ2g thedl X (AAI4)
1,600,000 *7H & 11,200
dzg ¢ 8- 294 N (EX) 430,560 430,560 0
= 86,112
Al 344,448
307 glz2tol & 430,560 430,560 0
= 86,112
Al 344,448
11T M SXAISE EX 430,560 430,560 0
O3 294l XA 430,560,000 430,560
< 86,112
Al 344,448
d2Y ety | (BEX) 580,060 580, 060 0
< 116,012
Al 464,048
307 21201 A 580,060 580, 060 0
< 116,012
Al 464,048
11T M3 SRASEEX 580,060 580,060 0
0OZ2% ed X3 580,060, 000& 580,060
S 116,012
Al 464,048
d2Y sFI| Hedl XN(ExX) 906,000 906,000 0
= 226,500
< 317,100
Al 362,400




2N
X ZH -
L= B

el

P IlE=n}
co=xsd
LOEIANLE 2Y

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

307 21201 A

= Hn W

906,000

226,500
317,100
362,400

906,000

A S XA E =

O3zg s&J| gl XA

906,000,000&

= N H

906,000

906,000
226,500
317,100
362,400

906,000

O]
H
P

2 2=H XA

)

= N W

208,105
52,026
72,837
83,242

208,105

307 glzZtol &

=z N W

208,105
52,026
72,837
83,242

208,105

1A SXAIE 2 =

O32g &=Hl X 208,105,000&

= M W

208,105
208,105

52,026
72,837
83,242

208,105

F2Y 2haldl X (

H
FA

)

= M

137,950
27,590
110,360

137,950

307 21201 &

n

Al

137,950
27,590
110,360

137,950

A S XA E X

OZ22g 2taldl X 137,950,000&

= M

137,950
137,950

27,590
110,360

137,950

2 gt XA

H
FA

)

= MW

60,400
15,100
21,140
24,160

60,400

307 glztol &

= N H

60,400
15,100
21,140
24,160

60,400

1A SXAIE E =

OZ=2Y datdl XNJ(XMJI22) 60,400,000

= N W

60,400

60,400
15,100
21,140
24,160

60,400

H
e
i
=
1=
o
e
bl
Jn

600,000

600,000




SH: HEHED
Ha: Lo=XEH

el ASIAE 24

Off &t 24

=

i
2

600

,000

600,000

600,000,000&

600
600

,000
,000

600,000

H

Al

3,365

,355
,009

— N

,264

,685
,579

3,199,872

165,392

H

Al

,365

,355
,009

— N W

,264

,685
579

2,619,872

745,392

3,365,264,000&

=

3,365

w

, 365

2,355
1,009

,264

,264

,685
,579

2,619,872

745,392

LOISE0l HRM XN (EX)

= HnH

615
430

,528
,870
,863
,795

756,002

N 140,474

307 clztol &

= N H

,528
,870
,863
,795

615,528

[m]

| Et

J
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COUSTAIE BAK HRHH(RE) 124,464 119,040 5,424
< 37,339
Al 87,125
307 glz2tol & 124,464 119,040 5,424
< 37,339
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11T M SRAISE EX 124,464 119,040 5,424
OLQ=EXAE SAX SE€=Y 93,184,000& 93,184
< 27,955
Al 65,229
OTIHC I ZRALE BAX SE+Y
14,000,000 14,000
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Al 9,800
O =EX& SAX S8 17,280,000& 17,280
< 5,184
Al 12,096
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Al 17,000
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Al 17,000
11T M SXALSE EX 20,000 20,000 0
OLQ=X2 AHIT2IY 22T
20,000, 000& 20,000
< 3,000
Al 17,000
SO HIOIANEEH 2Q(EX) 71,112 46,800 24,312
< 21,334
Al 49,778
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= 21,334
Al 49,778
11T AL SRAEE = 71,112 46,800 24,312
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11T A EXAIEEX 20,000 20,000 0
OO0 U=EEH 2 MY AMHIA 22| A
20,000,000 20,000
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LRI AUZAL X (EX) 626,179 0 626,179
= 438,324
= 37,571
Al 150,284
307 giztol A 626,179 0 626,179
= 438,324
< 37,571
Al 150,284
11T A EXAIEEX 626,179 0 626,179
OL0RE UZANL2H 626,179,000& 626,179
= 438,324
< 37,571
Al 150,284
CEME X2 50,967,884 37,923,641 13,044,243
= 43,193,263
Dl 84,000
o 1,687,790
Al 6,002,831
LOSNSAAY = 412,900 424,100 A 11,200
201 et d| 22,500 21,000 1,500
01 AFR 2t 2| bl 10,500 9,000 1,500
OBt 2H| 6,500
o LoEX g2 M)t 2 =
1,400,000& 1,400
o LQEXg 2 oA (HAAIAMNES2
2,600,000 2,600
o A 22X 2,500,000& 2,500
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301 gt L= 45,867,746 32,922,731 12,945,015
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ZATANANER2I 700,500 0 700,500
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o ZUSEAL HRFA 500,000 500
308 AHAIEHHSOIA 700,000 0 700,000
07 IXNHMAR S = 700,000 0 700,000
OZYSTANE ANE2ES 700,000, 000& 700,000
28 & tsEXNs5d 20,269,913 20,760,627 AN490,714
= 8,722,781
= 6,753,805
Al 4,793,327
otrs=2XSa 3,051,766 3,057,866 A6,100
= 782,617
= 965,639
Al 1,303,510
Ots SXAY =& 30,583 31,983 A 1,400
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O2EAUEIIE & 2 - BUMENYE 28 I8
= 7 2,000,000& 2,000
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ANEotsdEHSGE (BX) 602,646 570,310 32,336
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= 294,123
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= 267,675
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Al 160,605
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= 15,624
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Al 9,374
OXg0otsdH ERQ2F XA 21,648,000& 21,648
= 10,824
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Al 11,222
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< 173,250
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301 LBt A 693,000 680,940 12,060
= 173,250
Al 519,750
01 Ml28E+06l= 693,000 680,940 12,060
Oogss otsz4 K& 693,000, 000& 693,000
< 173,250
Al 519,750
8|8 Ots34 XN (EX) 513,000 513,000 0
< 513,000
301 LtE L= 513,000 513,000 0
< 513,000
01 A3l EE & 56l 3 513,000 513,000 0
glls ots=24 N 513,000, 000& 513,000
< 513,000
JIE ZAOS SAXNA(BE) 10,220 13, 140 ~2,920
= 2,585
Al 7,665
301 AP B A 10,220 13,140 A2,920
= 2,555
Al 7,665
01 MEIBEE 5= 10,220 13, 140 22,920
OJIE Z2A0ts SN 10,220, 000& 10,220
= 2,555
Al 7,665
YAOS YSREZ(2X) 3,400 4,300 £900
= 1,020
Al 2,380
301 L2 Az 3,400 4,300 A 900
= 1,020
Al 2,380
01 MI2ZHE 06z 3,400 4,300 A 900
0L Ats dEEXS 2,400,000& 2,400
< 720
Al 1,680
0L 2 =ol= 1,000, 000& 1,000
< 300
Al 700
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dAeotsLdES+LNIA(BX) 54,000 39,600 14,400
= 37,800
< 8,100
Al 8,100
301 et d =S 54,000 39,600 14,400
= 37,800
< 8,100
Al 8,100
01 MEIBEZE 05z 54,000 39,600 14,400
O22ots 24 X 54,000,000& 54,000
= 37,800
= 8,100
Al 8,100
IS B5Hl N (BZX) 86,400 86,400 0
< 8,640
Al 77,760
301 et a3z 86,400 86,400 0
< 8,640
Al 77,760
01 AR 2Z A 53 86,400 86,400 0
ONERAE BsH K& 86,400,000& 86,400
< 8,640
Al 77,760
AdAE L IIEJAEXNA(EX) 48,800 48,800 0
< 14,640
Al 34,160
301 et d = 48,800 48,800 0
< 14,640
Al 34,160
01 MI2EZE 06z 48,800 48,800 0
OE2SHA0ls MEHFHXH 48,800,000 48,800
< 14,640
Al 34,160
L2EHAFINERNE(BE) 1,440 2,880 21,440
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Al 1,296
301 et a = 1,440 2,880 AN 1,440
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Al 1,296
01 MEIBZE 063 1,440 2,880 21,440
o284y JHEXA 1,440,000& 1,440
= 144
Al 1,296
2Es0ts IEEESE 2Y(EX) 47,213 47,213 0
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< 14,014
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Al 15,514
307 QI2t01 & 47,213 47,213 0
= 17,685
& 14,014
Al 15,514
11 Al EXAIE E 47,213 47,213 0
ORRESOlE JEs2s 8Y 44 213,000 44 213
= 17,685
= 13,264
Al 13,264
OEA0E NEHEZ 3,000,000& 3,000
= 750
Al 2,250
KNEOtsSHE 2ats 2tAH XK (BEX) 265,072 225,180 39,892
& 66,268
Al 198,804
307 gizto| A 265,072 225,180 39,892
& 66,268
Al 198,804
11 Al EXAIE E 265,072 225,180 39,892
OXS0tsdEH Sits 24X
265,072,000 265,072
= 66,268
Al 198,804
NE0otsSHE 2SR 32,900 90,000 A57,100
307 2iz2tol A 32,900 30,000 2,900
11T AISIEXAIE EX 32,900 30,000 2,900
OXY0tSHEH A (MESHal) X
2,700,000& 2,700
OXE0tsSHE WHetdl X 500,000 1100 A 5,500
OXEots4dH &SsHAHN IS 15,000,000& 15,000
OXA0tSHEH HetAIS (&2 ES) X2
2,000,000& 2,000
OXE0tsSHEH WML FH X 7,700,000& 7,700
NEBSL HH=22MEH 29 66,999 63,999 3,000
201 LBt Y| 61,999 61,999 0
01 AP 22| d| 5,699 5,699 0
O2bt4=2| 5,199
o NEBHHSEHEEH MR2EE 7Y
2,000,000& 2,000
o MIIOHA ZAE=EE 699,000 699
o Ro&H 4922l 2,000,000& 2,000
o0 A UM E 3 Y| 500,000 500
==l 500
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o NEHMNHESEHH HEFA 500,000& 500
02 =24l 56,300 56,300 0
O=323LHA 49,300
oM, e Ao ES 1,300,000 1,300
0&E2323 48,000,000 48,000
OAEZHI S X 7,000,000 7,000
206 TH 2 HI 5,000 2,000 3,000
01 MHZ 4l 5,000 2,000 3,000
OXZH0=SEdy &9 & =357
500,000& 4= | 2,000
O NBLHHSEEH Helolsolgd e +
2 3,000,000& 3,000
CHAEE HEH 29 60,000 85,000 25,000
301 L2 A S 60,000 60,000 0
01 MEIBEE 063 60,000 60,000 0
OESABREMH MHAXY &0 29
60,000, 000& 60,000
CEAERE HEH 2H(2F) 300,000 300,000 0
= 300,000
101 @124 Hl 119,000 82,800 36,200
= 119,000
04 JIZHHZ2XREES 119,000 82,800 36,200
OOlSSEMUIANMEZRA 1A
105,000, 000& 105,000
= 105,000
OAtedl el ns & sZF0H 14,000,000 14,000
= 14,000
201 Let24d] 16,743 31,150 A 14,407
= 16,743
01 At 22l 16,533 25,900 A9,367
OB =+=EH| 16,533
o CEHAEENH 2IEEF 7Y & 222
NIES 16,533,000& 16,533
= 16,533
02 8322l 210 250 AN40
OZZ23LHA 210
o SEHAEEHWH 22 210,000& 210
= 210
202 O4dl 5,500 7,800 A 2,300
= 5,500
01 SLHAYI 5,500 7,800 A 2,300
OAtgl 22l & ws ESF 0 5,500,000& 5,500
= 5,500
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M Ex 2 ts=Ksd
el otsSEXSsA (&)
SA - BB B () - MM - BES Ol &t o San HmEET
301 L2 A= 156,757 59,000 97,757
= 156,757
01 MEIBEZE 05z 50,000 37,000 13,000
OSEAEIEAH(BAH , BE], 85X 20 Z2
8 234l 50,000, 000& 50,000
= 50,000
09 &AL HI B A S 16,757 20,000 N 3,243
O=3HeE ¢ HsBE S 16,757,000& 16,757
= 16,757
1M1IIEESS 90,000 2,000 88,000
OSEZAEE T2 29 2AxE S
90,000, 000& 90,000
= 90,000
405 XtAHE SHI 2,000 2,000 0
= 2,000
01 XA = ZH SH| 2,000 2,000 0
OESYAEENH 257Y 2,000,000& 2,000
= 2,000
ESAME 2EXE 17,218,147 17,702,761 N484,614
= 7,940,164
< 5,788, 166
Al 3,489,817
ESANE 2EXE 233,522 276,722 A 43,200
201 LB-2E| 3,000 3,000 0
01 At 22l 3,000 3,000 0
OBt~ 2,000
0 HSYSEA( 02 ARBE P
2,000,000& 2,000
O=&l 1,000
o ESAE RF2 1,000, 000& 1,000
202 oddl 2,622 2,622 0
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307 21201 A 227,900 241,100 213,200
11T AL S XA E = 227,900 241,100 A 13,200
OZII2E ESAE SAN AL X
113,400,000 113,400
OE=0l sitsisl 4,700,000& 4,700
Ooogold ey & X 82,500,000 82,500
OO0y et ZH Jtedl XI&
27,300,000& 27,300
BEESMUIA(AHE)(EX) 3,958,704 4,084,552 A 125,848
1,979,352
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M HEIIED
B 9 OlS=2XEA
el BEFAE 29X (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
< 106,170
Al 247,730
el ol X2 (BX) 768,023 584,105 183,918
= 384,010
< 192,007
Al 192,006
307 glz2tol & 768,023 584,105 183,918
= 384,010
= 192,007
Al 192,006
11 ASI S XA E = 768,023 584,105 183,918
| DEMPY BmE. 34,560,000 34,560
= 17,280
< 8,640
Al 8,640
OX&E2gHl 15,447,000& 15,447
= 7,723
< 3,862
Al 3,862
OESWA 2FS3IEHI 514,446,000& 514,446
= 257,222
< 128,612
Al 128,612
03238 Helold K& 189,603, 000& 189,603
= 94,802
< 47,401
Al 47,400
OsHEHAWEO0EXNA 13,967,000 13,967
= 6,983
< 3,492
Al 3,492
BESAE SAL BN (EX) 4,282 4,122 160
= 2,141
< 1,070
Al 1,071
307 21201 A 4,282 4,122 160
= 2,141
< 1,070
Al 1,071
11 AMSSIAIEE X 4,282 4,122 160
OESAE SAX E+USHI 4,282,000 4,282
= 2,141
< 1,070
Al 1,071
LY (EX) 1,854,189 2,071,919 A217,730
= 1,205,223
= 315,212
Al 333,754
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SN HAIED
I odus 2 2hel N
S 2FEES HYDS2SY (B9 ®R)
= — = s
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
ENs T2 g 22 202,634 211,974 29,340
201 2erE Sl 19,714 19,714 0
01 At2 2t 2l bl 12,154 12,154 0
ORETRSE=E] 10,411
0GEDE HVDH B4 K
70,0002 *70H x4 3 1,960
oMNRES ¥ HM4AEE £ 2,500,000 2,500
0 28T FY XU ST S)
1,863,000& 1,863
o &I F¢ 2,900,000& 2,900
o SASXYIIS HE & P2
5003 *20H x32| x56F 168
0083 BATY 2
0,000& 6 23] 600
o B mel(ZH na& % »2l)
420,000& *13] 420
Ol 1,743
odaa HRFA 7,0003 »3H «83 1,743
02 5524t 7,560 7,560 0
O3Z22=ZHA 1,860
o TAJA MIEE 25,0003 122 300
oA ANES 100,000& =122 1,200
0 JbAALLD HAHH4 =26l 30,0002 12 360
OAIEEH S Xl 5,700
o dal2 AId&H |RX=Z= 2,000,000& 2,000
o IOt =8 200,000 »11CH 2,200
oMsE D&+l ¥ 2HRAM S
62,5003 »24CH 1,500
202 o4 Hl 3,000 3,000 0
01 SLHOHI 3,000 3,000 0
O04dus 28 2= 2,000,000& 2,000
O0&us 24 Ttg+=8 1,000,000& 1,000
206 T 2 HI 640 640 0
01 MWl 640 640 0
LM Y S0 02X P2 2
30,000& *83] 240
O3a 4543 7Y 400,000 400
301 Lot = 172,580 172,580 0
09 HALAHIE& S 1,500 1,500 0
O=H L AZEA EIHA AUl 4
1,500,000 1,500
NIg=24=3 171,080 171,080 0
ONHENS A= (30MLSF) 152,880
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M 08I ED
M s L L2 N
©9: 4EES EDSSY (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
o IOt BH(1,28}H) 70,0003 »==23| x483 6,720
o0 RIHIEL 35,000& *=33| *48% 5,040
o RIt2st 35,000 *3=33] *485 5,040
o Ml 70,0003 == 13| x483 3,360
o EA 70,000 »3=23| x48% 6,720
o st= 70,0003 »3=23| x483 6,720
o9 70,000 *3=23] x485 6,720
o M E Xt 70,0003 »==13| x483 3,360
o StXIZ20 70,000 »3=23| x48% 6,720
o %X 70,0003 »==23| x483 6,720
oLciuwa 70,0003 »=3=23| x485 6,720
0 2EE 70,0003 »==23| x483 6,720
o Jtot=a g & 70,0003 »=3=23| x483 6,720
o A&J3 70,000 *=23] x483 6,720
0o AEXUA 35,0003 *=33| x48% 5,040
o HelthA 35,000 *3=33| x485 5,040
o MEAN 70,0003 »3=23| x483 6,720
o 80 s=n= 70,000 *=23| x48 6,720
o EIA(0F2H) 70,0003 »3=23| x483 6,720
o A4 ET I (0F2H) 70,0003 == 13| x485 3,360
o SQI3H(0F2H) 70,0003 »==23| x483 6,720
o HAZII2(0F2H) 35,000& *=33| *48% 5,040
0 RHECHA(OF2H) 35,000& *F=33| x48F 5,040
o Z30E 70,0003 »3=23| x483 6,720
o =X & 35,000& *F=33| x48F 5,040
o AMHXINX & 70,0003 »==13| x483 3,360
o &=& 70,000& = 13| x48F 3,360
O8uNs HASE A=Y 18,200
o Ml b M At 70,000 *3=33| x523= 10,920
o St& E2| Ak 70,0003 »=3=23| x523= 7,280
405 XHabF SHI 6,700 16,040 N9,340
01 A&t = S F St 6,700 16,040 N9,340
OUZE QIIHE 2¢ 20,000& *50JH 1,000
Odiwa &kt 30,000& = 1004 3,000
O M A% e 8l A D] 2,000,000& =1CH 2,000
OSIHAE , 20, st=8t Chelol ¢
200,000& = 1CH 200
OWE3 2 L4 A2 50,000& x10JH 500
WKIIXH &S 1,000 1,000 0
206 T2 H 1,000 1,000 0
01 X2t 1,000 1,000 0
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S9 4FE=S HHDS2Y (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
Ost=0u= Wb 10,000& =100 1,000
SZAMAE MAIS L LHHI 6,900 6,900 0
201 Let24d] 2,000 2,000 0
03 &Ar2 Gl 2,000 2,000 0
O=2d &F A3 2,000,000 2,000
207 A& H| 2,400 2,400 0
03 Al & 12 HI 2,400 2,400 0
OEZHANE M7 2,400,000 2,400
301 L2 A Z 2,500 2,500 0
09 HALAMHI B &S 2,500 2,500 0
OHSTANE NHESAR & 2 A28
2,500,000& 2,500
Heol so01gy 22 24,538 24,538 0
oelolsolg2d 24,538 24,538 0
101 @14 Hl 23,138 23,138 0
04 JIZHHZ22XREES 23,138 23,138 0
028 4EXNZ22R(=01Y EK WAL 23,138
oJlEa 1,036,000& x1H + 123 12,432
o &0=3 1,036, 000& * 1 x400% 4,144
o B&E FOtHI 1,036,000& *1H x120% 1,244
o Mg Al 130,000 x1H 128 1,560
oUFIRLY
5,5703 «1H *10Al 2t * 128 x1.5 1,003
o HXxtg 5,5703 *BAl 2t x152 »1H 669
o =23 21,052,000& =4 .5% 948
o UEEHE 21,052,000& *1.4% 295
o MHEE 21,052,000 *1% 211
o ALEH 21,052,000& *2.9% 611
o BIIRIYEBE 611,000 +3.28% 21
405 XHobF S HI 1,400 1,400 0
01 AL ESFH S 1,400 1,400 0
OOs=HN 7L 10,000& 50 500
O=01Y 232(58) 150,000& 65 900
gL xel X 404,320 468,660 A 64,340
= 183,660
J| 82,200
< 58,530
Al 79,930
HEMELoIIHE2E (EX) 269,320 402,660 A 133,340
= 183,660
< 38,330
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 9,800
01 MHZ 4l 9,800 19,795 A9,995
OuUsSEE A5 M7 9,800,000 9,800
= 9,800
301 LAz 113,100 98,325 14,775
2 98,600
< 7,250
Al 7,250
09 SAAHIEA S 27,300 44,360 A 17,060
OFYAI L ABREIAY DUt 2
=gl 11,000, 000& 11,000
2 5,500
< 2,750
Al 2,750
OZgussd 29 16,300, 000& 16,300
= 16,300
(AP S =S = 85,800 53,965 31,835
Oz WsE 2 40,800,000 40,800
= 40,800
OMZHLE XHE X&S 45,000,000 45,000
= 36,000
< 4,500
Al 4,500
HEHg dasd(BEx) 27,000 41,000 A 14,000
< 9,300
Al 17,700
101 @124 dl 21,000 0 21,000
< 6,300
Al 14,700
04 JI12ZtHZ22HEE =+ 21,000 0 21,000
OFSEAHAMN E53H| 21,000,000& 21,000
< 6,300
Al 14,700
201 Let24dH] 4,500 8,500 A 4,000
= 2,250
Al 2,250
01 At 22l 1,500 3,500 A 2,000
o2t =2H| 1,500
OGIMHAA MBS MUK M
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03 &Ar2 Gl 3,000 5,000 A 2,000
Ol o= YEAI TS 223 Ha L |
25 M 3,000,000 3,000
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et a = 1,500 17,500 A 16,000
< 750
Al 750
MIIEEE=S 1,500 17,500 A 16,000
OOlEZU0A HBDS LA+
1,500,000& 1,500
< 750
Al 750
Od &4 SF3Hd X 24,000 10,000 14,000
< 10,000
Al 14,000
402 RIZ2EX201 A 24,000 10,000 14,000
< 10,000
Al 14,000
01 It 2 AL E X 24,000 10,000 14,000
OWEZSINY EZMEAY 20,000,000 20,000
< 10,000
Al 10,000
OUZI3IIE MHEIYH SAMEAEY
4,000,000& 4,000
ZE0I2A X Xtel AN 9,000 15,000 A 6,000
J| 7,200
< 900
Al 900
301 et a3z 9,000 0 9,000
J| 7,200
< 900
Al 900
11IIEtEA S 9,000 0 9,000
OZE0/204 QEXAS 9,000, 000& 9,000
J| 7,200
< 900
Al 900
Hoag D8 UMY (EX) 75,000 0 75,000
J| 75,000
101 @14 dl 44,920 0 44,920
J| 44,920
04 JIZHZ22XRHEE S 44,920 0 44,920
ONoMER P4 U AHPEE HNNYS
44,920,000 44,920
Jl 44,920
201 Let49] 11,960 0 11,960
J| 11,960
01 At 22/l 11,960 0 11,960
OZEL2IH| 11,960
o tHaE T2y 2dH| 11,960,000 11,960
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- _ _ RE]
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J| 11,960
202 04d| 560 0 560
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O Z2)dEAE5 L oA 560,000 560
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301 et A= 17,560 0 17,560
J| 17,560
09 HAIAHI B A2 17,560 0 17,560
O doAME IR 3,600,000& 3,600
J| 3,600
O S22 )HED A 11,320,000 11,320
J| 11,320
O doME 28 2,640,000& 2,640
J| 2,640
HHSHAY (A=) 28,200 23,580 4,620
| 23t 28,200 23,580 4,620
Jl2Zd(6ddIIs ) 28,200 23,580 4,620
202 044l 24,000 19,380 4,620
01 2L Y| 24,000 19,380 4,620
OSE =204 100,000& »20H x12& 24,000
203 & @ =T Y| 4,200 4,200 0
04 FEASIEIRFA 4,200 4,200 0
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